
Tue 7 May7019 -Example -
(page422)

Io,m
5000 yeast cell

the#cells sowsa a RETEof25%per#day
thefunction that modelsthe growth
N(t)= No (Hr)

d

d) NE Aof yeast cells
Current

5

d:• days passed
VErate of growthNo) =to=805000
NEinitial a mount
{

a)Plot in geogebra



b)How wnanyullsafter a week?
NL7)= 5000/(1.15)

7
=5000as- JT

4.
n
V

~= 23.
=
841



Problem -9 p439
. A WP of coffee cools downfollowing the equation
Tet)= soft)this

+18 TE temperature
[ Etime(belonids)

,

a)Is this exponential trueryesWhy! YesI causeI- shows
up in the exponent

S.

b)What it makes the exponents?t=22
C)Whetisinitattemperator?Flo):68.4 t18--86

of

of

whiteJ



d)I~(t=22)=68 ï1+18= 34+18=57•
e) What doestell represent?Plot in geozebrafist.

The

2

h locatethepointT(22).

t=22 is hatanalogous to the half-life
that we Jaw forcarbon-14 delay

T(HisMidpointbetween 40) Iasymptote
(4=18)86



Problempage 12440: Poppakbaton in 200013700' Each yearit

decreases by 5%
p(yr)=

%13700/1-0.05)"on) Write formulafunction


